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QUESTION 1

On an SDN network, network devices only need to be responsible for data forwarding.
A. TRUE

B. FALSE

Correct Answer: A

Reference: https://actfornet.com/huawei-cloud/sdn.html

QUESTION 2

Which of the following statements are true about the meaning of the peer 20.1.1.2 allow-as-loop 2 command? (Choose
all that apply.)

A. The local AS number can be repeated in the AS_Path attribute in the received routes.
B. 2 indicates the number of times the AS number can be repeated.

C. This command can only be used on EBGP peers.

D. By default, the number of times the AS number is allowed to be duplicated is 1.
Correct Answer: BD

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1100008283/14418f9d/peer-allow-as-loop

QUESTION 3

Which of the following descriptions are true about SDN? (Choose all that apply.)
A. SDN is OpenFlow.

B. SDN supports forwarding-control separation.

C. SDN provides programmable open interfaces.

D. SDN is short for software-defined networking.

Correct Answer: BCD

QUESTION 4
Which of the following statements are true about the DIS in IS-IS? (Choose all that apply.)

A. A DIS creates and updates pseudo nodes on a broadcast network.
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B. DIS election is unpredictable.

C. When all IS priorities are the same within a LAN, the IS with the largest MAC address is elected as the DIS.
D. DIS election on a broadcast network is held in preemption mode.

Correct Answer: AC

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1100055485/4110e8a/basic-protocols-ofis-is

QUESTION 5

SNMP uses connectionless UDP as the transmission protocol, whereas NETCONF uses connection-oriented TCP.
A. TRUE

B. FALSE

Correct Answer: B

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1000102491?section=k006
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